Installation Instructions

XRC Tube Fenders
76872, 76873(97-06 Wranglers)
76862, 76863 (87-95 Wranglers)

SMITTYBILT

Please read instructions thoroughly before installig this product. Major modifications are required
to install this product and it's recommended to bedone by an experienced mechanic/installer.

Parts Included Qty

Drivers Side Flare

Passenger Side Flare 1

6mm Allen Button Head Bolt 10

6mm Lock Nut 01

6mm Flat Washer 24

3/8” x 1" Hex Head Bolt (YJ) 6

3/8” Lock Nut (YJ) 6

3/8” Flat Washer (YJ) 6

8mm1.25x30mm Hex Head Bolt (TJ) 8

8mm Flat Washer (TJ) 8 T
8mm Lock Nut (TJ) 3 C >

Step 1: Disconnect turn signals and secure wiring baclkobthe way. Remove the current plastic flares
from your vehicle.

Step 2: Trim the included template out, connect togetret set on top of the fender. Place the formed fron
portion to match the form of the fen@vhere it meets the grille and lay down towahdskiack of
the fender where it meets the bodbyfitewall. Use a marker to outline the templatetiom fender. (

Line the front “formed” part of the template withnet
matching “form” where the fender meets the grill.

(Fig A)



Installation Instructions

SVIITTYBILT XRC Tube Fenders
A & ‘& 76872, 76873(97-06 Wranglers)
e 76862, 76863 (87-95 Wranglers)

Step 3: Remove the bolts that hold the front of the feridehe front grille. (TJ-3) (YJ-5) Fig C

Make sure to leave a lip all the way back s
‘ = »/
A o .ﬁ = . F o
A “ o

to the front
grille.

| You will begin
cutting just on
the inside of
where the
| fender mounted
/ | tothe grille.

e il +
| Cutalong top of fender all the way back to whe
| it meets the firewall. (cut through this) Make sur
to leave a lip on the inner fender all the way bad

(Fig C) (Fig D)
Step 4: NOTE: Use extreme caution before cutting; make surall wires, cables or any other
obstructions are out of the wayJsing a sawzall or other cutting tool carefully twe fender
off. You will begin cutting from jusiehind where the fender mounted to the frontegr{lFig C)
You will be cutting from where thenfier meets the grille up and along the top of gmelér all
the way to where the fender mounthéofirewall.(Fig D,E,F) Make sure to leave adipthe way

back to the tub. (Fig D)

Step 5: Measure a straight line up on the inner backiguoof your fender. Measure and mark with a
marker; in 1” for 97-06 and 1 2" 18d’s and YJ's from the outside edge of the factender.
NOTE: Use extreme caution before cutting; make surall wires, cables or any other
obstructions are out of the wayCut this line up. (Fig E, F)

1] 0 — - - = -
Unbolt the four — ‘ Fig F \‘\ r
s bolts holding g i ® | -
i the back of the [~ 5 o — ‘ :
Cut along top of fender all thepy s

3 fender to the .
W body tub way back to where it meets |
o the firewall. (cut through this

J" »

Measure a straight line up on the inner back porioyour fender. Measure and mark with a marlket.”i
for 97-06 and 1 %" for CJ’s and YJ's from the odésedge of the factory fender. Carefully cut time up

=\ 5



Installation Instructions

XRC Tube Fenders
76872, 76873(97-06 Wranglers)
76862, 76863 (87-95 Wranglers)

SMITTYBILT

Step 6: Unbolt the four bolts holding the back of teader to the body tub and remove what is left of
(Fig E) Keep these bolts, they Wwélre-used with the new fender. You should no bale the
inside fender left. ( Fig G)

Step 7: Position the fender on your vehicle by pladginaver the inner fender (Fig H) and line up thenfr
bracket with the oem grille and lelysattach using the factory bolts previously reea\VFig J)
Line up the rear of the fender vitik body tub and loosely attach the previously reedanside
bolts. (Fig I) Check to make sure yave a gap underneath between the inner fendeycam
new fender. (Fig K) If it is rubbigywhere, use a grinder on the inner fender tadgtidown
to make clearance for the fender Buvariance in vehicle tubs if a hole is slighdf{you can use
a die grinder in order to open up lioles in the fender. Once you have the fenddrarcorrect
position tighten the bolldOTE: You may need to trim the battery tray so the ferofiears.

Line up the rear of the fender with the |}
e body tub andoosely attach the previouslyj

Use the holes in the fender as a gui
9 removed inside bolts.

to drill holes through inner fender.

(Fig H)

Use the holes in the inner fender as a
guide to drill holes in order to re-install
the hood latch and rubber stop

Line up the front bracket W|th the oem
grille and loosely attach using the factoryjis
bolts previously removed.

Check to make sure
inner fenderisn't |8
rubbing new fender. |




Installation Instructions

SVIITTYBILT XRC Tube Fenders
L R e 76872, 76873(97-06 Wranglers)
e 76862, 76863 (87-95 Wranglers)

Step 8: Now that you have the front and rear of the &rrimblted on, use the holes in the top of the feade
guides in order to install the taptb. (Fig H) Using a ¥ bit drill through the innfender and
attach using the supplied allen Haalts. (Fig L)

Step 9: Attach the lower inner fender to your new fender
A. On TJ’s you can either reuse the factmgdware or the included 8mm hardware.
B OnYJ.s use the holes in the fender gsice to drill a hole using a 3/8” bit. (Fig M)

p>

A

(Fig M) (Fig N)
Step 10: Use the inner fender as a guide to drill holeshmpugh the fender for your hood latch and rubber
hood stops. (Fig K) Re-install ytnood latch and rubber stop. (Fig N) You may neetliin the
bottom plugs on the rubber stop asel some kind of adhesive. Installation is now glete.
Make sure all hardware is tight.

CARE AND MAINTENANCE
To protect your investment it is recommended tall@dy wash and wax this part. Do not use any ypeeaners that contain
abrasives that may damage the finish of your part.
LIMITED WARRANTY

Smittybilt (The Company) warrants to the origiparchaser of this product that should the produetny part thereof, under normal use and conditibagproven
defective in material or workmanship within 5 yefimsn the original date of purchase, such defeet{t}e repaired or replaced (At the Company’siamt
without charge for parts or labor.

To obtain repair or replacement within the teohthe warranty, the product is to be deliveredwgitoof of warranty coverage ( e.g. dated billalesreceipt),
specification of defect, freight pre-paid with Retsi Good Authorization Number from Smittybilt tapé of purchase. Items returned to Smittybilt withe
Returns Authorization Number will be refused anmimeed to sender at the sender’s expense.

This warranty does not apply to any produgtant thereof which, in the opinion of the Compamgs suffered or been damaged through altercatigprpper
installation, mishandling, misuse, neglect accidergcts of naturelHE EXTENT OF THE COMPANY'’S LIABILITY UNDER THIS WA RRANTY IS
LIMITED TO THE REPAIR OR REPLACEMENT PROVIDED ABOVE  AND, IN NO EVENT, SHALL THE COMPANY'’S LIABILITY EX CEED THE
PURCHASE PRICE PAID BY THE PURCHASER FOR THIS PRODUCT.

This warranty is in lieu of all expressed warrastied liabilities. ANY IMPLIED WARRANTIES, INCLUDING ANY IMPLIED WARRANTY OF
MERCHANTABILITY SHALL BE LIMITED TO THE DURATION OF THIS WRITTEN WARRANTY. ANY ACTION FOR BREACH OF AN WARRANTY
HEREUNDER INCLUDING ANY IMPLIED WARRANTY OF MERCHAN'ABILITY MUST BE BROUGHTH WITHIN A PERIOD OF 90 DAYs FROM
DATE OF ORIGINAL PURCHASE.IN NO CASE SHALL THE COMRNY BE LIABLE FOR ANY CONSEQUENTIAL OR INCIDENTAL DAMAGES FOR
BREACH OF THIS OR ANY OTHER WARRANTY, EXPRESSED AQRIPLIED,WHATSOEVER. No person or representativaiighorized to assume for the
company any liability other than expressed hemeicoinnection with the sale of this product. Satiages do not allow limitations on how long an imglwarranty
lasts or the exclusion or limitation of incidentalconsequential damage, therefore above limitatinay not apply to you. This warranty gives thechaser
specific legal rights. The purchaser may have aufdit rights, which vary from state to state.

SMITTYBILT FENDERS FENDER FLAR


http://www.carid.com/fender-flares.html
http://www.carid.com/smittybilt/

